SR
g
=
%
i

. EBA
B4 HR6EE  AUMENRERNERG (20 2) B
J@A TSRt ReA YRS e T ~ A A T

2. EBEAR
1) FEF4

2) BITHIRM

AR FEESESIT  TH#R

290 H H 4&fn 74 34 5H
= S THE12H198

3) &FEtHM
K% 3. AR Fﬁ%%%@ BRELT,

BT RO RS 21T 5 3675 C

4) FEHBNA
FEREEDOLEBY

Mt 2 M 570,

E+sZi@E SN



i

i
T

N

%lljll
I

EHA | BDR6FEE AN HERAERG (202) ¥(5 ER i W=
HH FEYE S
THH - T - R A7 # & KA MR N R
FEHE S = 396, 400
LV S & =X 334, 500
4 R S B =X 334,500 | 4 HRFLE SR
10 =8
KA E T L, &S 20
IRYEH & =X 61, 900
4 K MR X 61,900 | 4R/KEEHIEBE (LLVFEIZLD
) 1 km
HZ £ = 615, 264
HL £ = 615, 264
bR = 615,264 | BitHE (FESEF M)
1 kW
B b
0.012) 1 (km2) =
s T & = 895, 990
BRI = 895, 990
BRI = 895,990 | {EXEHHE
1 S0
T kAT
1 km
FH HubE AT )
1 km
Him = 45, 750
It = 45, 750
-1- E+2mE SN )R



i
I
St
%lljll
I

¥4 | DR6EE AURNERNFERIERG (F02) ¥B E i BB
H H L3l
THH - T - fER] B fr ¥ & 4 % OB ORR
Fredss: = 1 45,750 | fTE6E
1 X
[R5 S =4 52V 1 70, 814
[ERES S E2V 1 70, 814
TR 52V 1 9,814 | fir# (EFtL - 1AM
1 X
Ty 2 1 61,000 | FEFHR AR
1 A
TEE =X 1 2,024, 218
B3Ny = 1 1, 585, 782
At E2V 1 1, 585, 782
T ESEG Mk = 1 3, 610, 000
BT = 1 7,033, 369
JE R = 1 3, 287, 289
EHTEEERG (B) = 1 1,275,749 | JEETIHEERF (B)
(1 )1 (km) =
#ER1/1, 000
B AR R = 1 2,011,540 | JEEEFEMERET (A)
0.1 )1 (km) =
#ER1/1, 000
TERHETBIRE OMERFT = 1 146, 320
ERRERET BIR T O EE e 1 146, 320 | HRAHERK

-2 - E+sZi@E SN



i

oh
I

T
o
%lljl

==
=]

¥4 | B6EE AUNRARERRERE (F02) ¥B Eg BGES
H H ERRERET
THH - THE - FER BT 5 4 H A B ER
B0 )1 (W=
KB HBEKE
(100 )1 (M
VAR A ZE AR R = 2,914, 341
R ZE R T e =X 797,149 | FmA A T HERE
1 &RT
#5 K.1/500
T AL 72 AR B X 2,117,192 | FHA M FEIRR T
2 &RT
#i )N1/500
— SRR X 685, 419
— AR F X 685,419 | KT 1 v 7 FlfERE
(1 )1 (&) K
IR E R T = 319, 484
IREAE SR B! 2V 319, 484
IR SR 2V 319,484 | LR TREMIRGT
1 #
FiRI: B
LA = 868, 000
Him GREHED) = 868, 000
Taws 2V 652,400 | THH
1 =
RACRBEBIFT A8 itk
1 =
Z DA, v 88, 400 | & [FIEHIEEA
1 &
-3 - EEAZmE  Fu T R



==
=]

m
2
%

¥4 | DR6EE AURNERNFERIERG (F02) ¥B E BOES
H H L3l
THH - T - fER] A7 ¥ & 4 % OB ORR
TR E |2 & By
1 ]
INBH AR S ERK 2y 1 127,200 | ZABEIR%SR S VER
1 E30
[R5 S =4 52V 1 445,901
[ERES S 52V 1 445,901
i Gk 2y 1 50,901 | fit# (&L - fH51AMH)
1 X
%%Eﬁ%ﬁlﬁzﬁk% ﬂ 1 395, 000 %%Eﬁ%&ﬁzﬁk%
1 =
B (ZOtEmER <) X 1 8, 666, 754
Z DA =X 1 4, 350, 844
— R A = 1 7,002, 402
SRR = 1 20, 020, 000
EHRE = 1 23, 630, 000

-4 - E+sZi@E SN



